Name___________________________

Drill #1—Math 118—Summer 2007

1. An eleven member committee is voting on four candidates for committee chairman.  The ballots are cast and are listed in the table below:

	Ballot
	#1
	#2
	#3
	#4
	#5
	#6
	#7
	#8
	#9
	#10
	#11

	1st place
	A
	B
	A
	A
	C
	C
	A
	B
	C
	A
	A

	2nd place
	B
	C
	B
	B
	D
	D
	B
	C
	D
	B
	B

	3rd place
	C
	D
	C
	C
	B
	B
	C
	D
	B
	C
	C

	4th place
	D
	A
	D
	D
	A
	A
	D
	A
	A
	D
	D


Compile these election results into a preference schedule.

2. According to the Plurality Method, who is the winner of the election in #1?

3. According to the Borda Count Method, who is the winner of the election #1?

4. What is the Majority Criterion?  Does the election described in #1 violate the Majority Criterion if the committee uses the Borda Count Method as its voting method of choice?

5. What are the advantages of the Borda Count Method?

6. What are the disadvantages?

7. Describe the Condorcet Criterion.  Is it relevant in the election in #1?  Why or why not?

